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#include “Adafruit_FreeTouch.h”
Adafruit_FreeTouch cap = Adafruit_FreeTouch(A0,
OVERSAMPLE_1, RESISTOR_50K, FREQ_MODE_NONE);

int c;
int C = 900;
int R = 0;
int P = 2;
int V = 0;
int a = 0;
int l = 1;
int s = 0;
int o = 0;
float W = 0.2;
float B = 0.2;
long ta = 0;
long ts = 0;
long tc = 0;
int lf = 0;
long tw = 0;
long tb = 0;
long tW = 0;
long tB = 0;

void setup() {
Serial.begin(115200);

if (! cap.begin())
Serial.println(“capacative sensor problem”);

pinMode(V, OUTPUT);
pinMode(P, OUTPUT);

W = W * 60000;
B = B * 60000;
}

void loop() {
l = 1;
c = cap.measure();

if (c >= C) {
if (a == 0) {
a = 2;
l = 0;
s = 1;
digitalWrite(P, HIGH);
delay(500);
digitalWrite(P, LOW);
}
if (a == 1) {
a = 2;
l = 0;
s = 1;
tc = millis();
digitalWrite(P, HIGH);
delay(250);
digitalWrite(P, LOW);
}
if (a == 2 && l == 1) {
a = 1;
s = 0;
ts = millis();
digitalWrite(P, HIGH);
delay(250);
digitalWrite(P, LOW);
delay(250);
digitalWrite(P, HIGH);
delay(250);
digitalWrite(P, LOW);
}
}

switch (s) {
case 0:
break;
case 1:
switch (o) {
case 0:
if (lf == 0) {
ta = millis();
lf = 1;
}
tw = millis();
tW = tw - (tc - ts) - ta;
if (tW >= W) {
tW = 0;
tw = 0;
tB = 0;
tb = 0;
ta = 0;
ts = 0;
tc = 0;
o = 1;
lf = 0;
R = 1;
}
break;
case 1:
if (lf == 0) {
ta = millis();
lf = 1;
}
tb = millis();
tB = tb - (tc - ts) - ta;
if (tB >= B) {
tW = 0;
tw = 0;
tB = 0;
tb = 0;
ta = 0;
ts = 0;
tc = 0;
o = 0;
lf = 0;
R = 0;
}
break;

}
break;

}

switch (R) {
case 0:
digitalWrite(V, LOW);
digitalWrite(P, LOW);
break;
case 1:
digitalWrite(V, HIGH);
digitalWrite(P, HIGH);
break;

}
}
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